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•  parametri	
  nella	
  risposta	
  indiciale	
  (a	
  gradino	
  unitario)	
  di	
  un	
  sistema	
  dinamico	
  lineare	
  

2	
  

y∞	
  

ε =	
  3÷5%	
  y∞	
  

tempo	
  di	
  salita,	
  sovraelongazione,	
  tempo	
  di	
  assestamento,	
  valore	
  di	
  regime,	
  ....	
  



•  parametri	
  nella	
  risposta	
  indiciale	
  (a	
  gradino	
  unitario)	
  di	
  un	
  sistema	
  dinamico	
  lineare	
  

3	
  

y∞	
  

tempo	
  di	
  salita,	
  tempo	
  di	
  assestamento,	
  valore	
  di	
  regime,	
  ....	
  

altro	
  possibile	
  
andamento	
  
della	
  risposta	
  



•  sistema	
  di	
  controllo	
  del	
  primo	
  ordine	
  (;po	
  0)	
  

4	
  

€ 

W (s) =
1

1+τ s

€ 

W (0) =1
τ > 0

•  tempo	
  di	
  salita,	
  sovraelongazione,	
  modulo	
  alla	
  risonanza,	
  banda	
  passante	
  

•  risposta	
  indiciale	
  (gradino	
  unitario,	
  dallo	
  stato	
  zero)	
  e	
  modulo	
  risposta	
  armonica	
  

€ 

W ( jω) =
1

1+ω 2τ 2

€ 

y(t) = L−1 W (s) 1
s

⎡ 

⎣ ⎢ 
⎤ 

⎦ ⎥ 
=1− e−t /τ € 

G(s) =
W (s)
1−W (s)

=
1/τ
s

	
  	
  

€ 

istante ts > 0 : ˙ y (0)ts =1 ⇒ ts = τ 	
  	
  

€ 

istante tr > 0 : y(tr) = 0.5 ⇒ tr ≈ 0.69τ

	
  	
  

€ 

pulsazioneω = B3 : W ( jB3) =
1
2

= −3 dB ⇒ B3 =
1
τ

€ 

B3 ⋅ ts =1

€ 

ω t = B3 =
1
τ

•  parametri	
  risposta	
  in	
  frequenza	
  anello	
  chiuso	
  	
  ⇒	
  	
  anello	
  aperto	
  

€ 

mϕ = 90°

	
  	
  

€ 

y(t) ≤1, ∀t ≥ 0 ⇒ ˆ s = 0 (assente) 	
  	
  

€ 

W ( jω) ≤1, ∀ω ≥ 0 ⇒ Mr = 0 (assente)



•  sistema	
  di	
  controllo	
  del	
  secondo	
  ordine	
  (;po	
  0)	
  

5	
  

€ 

W (s) =
1

1+ 2ζ s
ω n

+
s
ω n

⎛ 

⎝ 
⎜ 

⎞ 

⎠ 
⎟ 

2

€ 

W (0) =1
ω n > 0
0 < ζ <1

•  risposta	
  indiciale	
  (al	
  gradino	
  unitario,	
  dallo	
  stato	
  zero)	
  

• modulo	
  della	
  risposta	
  armonica	
  

€ 

W ( jω) =
1

1− ω
ω n

⎛ 

⎝ 
⎜ 

⎞ 

⎠ 
⎟ 

2⎛ 

⎝ 
⎜ 
⎜ 

⎞ 

⎠ 
⎟ 
⎟ 

2

+ 4ζ2 ω
ω n

⎛ 

⎝ 
⎜ 

⎞ 

⎠ 
⎟ 

2

€ 

y(t) = L−1 W (s) 1
s

⎡ 

⎣ ⎢ 
⎤ 

⎦ ⎥ 
=1− 1

1−ζ2
e−ζωn t sin 1−ζ2ω nt + arctan 1−ζ2

ζ

⎛ 

⎝ 
⎜ ⎜ 

⎞ 

⎠ 
⎟ ⎟ 

€ 

G(s) =
W (s)
1−W (s)

=
ω n
2

s s+ 2ζω n( )
=

ωn / 2ζ

s 1+
1

2ζωn
s

⎛ 

⎝ 
⎜ 

⎞ 

⎠ 
⎟ 
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•  risposta	
  indiciale	
  e	
  risposta	
  armonica	
  ad	
  anello	
  chiuso	
  al	
  variare	
  di	
  ζ (ωn	
  =	
  2	
  rad/s)	
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•  risposta	
  indiciale	
  e	
  risposta	
  armonica	
  ad	
  anello	
  chiuso	
  al	
  variare	
  di	
  ωn (ζ	
  =	
  0.3)	
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•  tempo	
  di	
  salita	
  della	
  risposta	
  indiciale	
  

•  sovraelongazione	
  della	
  risposta	
  indiciale	
  

	
  	
  

€ 

primo istante ts > 0 : y(ts) =1

€ 

ts =
1

ω n 1−ζ2
π − arctan

1−ζ2

ζ

⎛ 

⎝ 
⎜ ⎜ 

⎞ 

⎠ 
⎟ ⎟ =

1
ω n

ˆ t s ζ( )

€ 

lim
ζ →1

ts = ∞

€ 

lim
ζ → 0

ts =
π
2ω n

=
Tn
4

(non	
  interseca	
  mai	
  	
  
il	
  valore	
  di	
  regime)	
  

(un	
  quarto	
  del	
  periodo	
  di	
  una	
  
sinusoide	
  a	
  pulsazione	
  ωn)	
  

	
  	
  

€ 

primo istante tm > 0 : ˙ y (tm ) = 0 ⇒ y(tm ) =1+ ˆ s 
il	
  valore	
  al	
  primo	
  

“massimo”	
  della	
  risposta	
  
(vale	
  anche	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ,	
  	
  
ma	
  è	
  un	
  minimo)	
  

€ 

˙ y (0) = 0

€ 

ˆ s = e−ζπ 1−ζ 2

€ 

lim
ζ →1

ˆ s = 0

€ 

lim
ζ → 0

ˆ s =1(non	
  c’è	
  nessuna	
  
sovraelongazione)	
  

(i	
  picchi	
  sono	
  ripetu;	
  e	
  pari	
  al	
  doppio	
  	
  
del	
  valore	
  desiderato	
  di	
  regime)	
  

•  tempo	
  di	
  assestamento	
  a	
  ±	
  ε della	
  risposta	
  indiciale	
  

	
  	
  

€ 

primo istante ta > 0 : ∀t ≥ ta ⇒ 1− y(t) ≤ ε

€ 

ta =
ln ε 1−ζ2( )

ζω n
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•  pulsazione	
  e	
  modulo	
  alla	
  risonanza	
  della	
  risposta	
  armonica	
  

	
  	
  

€ 

pulsazioneω r > 0 : d
dω

W ( jω )[ ]
ω=ω r

= 0 ⇒ Mr = W ( jω r)

€ 

B3 =ω n 1− 2ζ2 + 2 − 4ζ2 + 4ζ4 =ω n
ˆ B 3(ζ)

	
  	
  

€ 

ω r =ω n 1−ζ2 solo per ζ ≤1 2 ≈0.707

€ 

Mr =
1

2ζ 1−ζ2
(in	
  termini	
  assolu;,	
  	
  

da	
  esprimersi	
  poi	
  in	
  dB)	
  

•  banda	
  passante	
  (a	
  -­‐3	
  dB)	
  della	
  risposta	
  armonica	
  

	
  	
  

€ 

pulsazioneω = B3 : W ( jB3) =
1
2

= −3 dB

•  banda	
  passante	
  ×	
  tempo	
  di	
  salita	
  funzione	
  solo	
  di	
  ζ:	



€ 

B3 ⋅ ts =ω n
ˆ B 3(ζ) ⋅ 1

ω n

ˆ t s(ζ) = ˆ B 3(ζ) ⋅ ˆ t s(ζ)
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•  parametri	
  risposta	
  in	
  frequenza	
  anello	
  chiuso	
  	
  ⇒	
  	
  anello	
  aperto	
  

€ 

0←ζ < 0.5 : ω t → ω n
− <1.5ω n← B3 mϕ < 45° → 0°

ζ = 0.5 : ω t = 0.8ω n < 1.27ω n = B3 mϕ = 50°

0.5 < ζ →1: ω t → 0.5ω n <ω n← B3 mϕ > 45° → 90°
€ 

G(s) =
ωn / 2ζ

s 1+
1

2ζωn
s

⎛ 

⎝ 
⎜ 

⎞ 

⎠ 
⎟ 

	
  	
  

€ 

banda	
  passante	
  (normalizzata)
al	
  variare	
  di	
  ζ
B3
ω n

=1÷1.5
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€ 

(assumendo	
  

KG =
ω n

2ζ
>1)
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€ 

1+ ˆ s 
Mr

= 1+ e−ζπ 1−ζ 2⎛ 
⎝ 
⎜ 

⎞ 
⎠ 
⎟ ⋅ 2ζ 1−ζ2 ≈ 0.85
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sovraelongazione / modulo alla risonanza (sistemi del secondo ordine)

coefficiente di smorzamento zeta

(1
+s

) /
 M

r

€ 

B3⋅ ts = 1− 2ζ2 + 2 − 4ζ2 + 4ζ4

⋅
1
1−ζ2

π − arctan 1−ζ2

ζ

⎛ 

⎝ 
⎜ ⎜ 

⎞ 

⎠ 
⎟ ⎟ ≈ 3
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 * 

ts

legami	
  “empirici”	
  tra	
  parametri	
  delle	
  risposte	
  indiciale	
  e	
  armonica	
  ad	
  anello	
  chiuso	
  

ricava;	
  per	
  sistemi	
  di	
  controllo	
  del	
  secondo	
  ordine,	
  	
  
u;lizza;	
  anche	
  per	
  ;pologie	
  con	
  coppia	
  di	
  poli	
  dominan;	
  

banda	
  
in	
  rad/s	
   modulo	
  

NON	
  in	
  dB	
  



•  sistema	
  di	
  controllo	
  con	
  poli	
  dominan;	
  (;po	
  0)	
  

  

€ 

W (s) =

1
1+τs

1

1+ 2ζ s
ω n

+
s
ω n

⎛ 

⎝ 
⎜ 

⎞ 

⎠ 
⎟ 

2

⎧ 

⎨ 

⎪ 
⎪ 
⎪ 

⎩ 

⎪ 
⎪ 
⎪ 

×
1+ b1s+ b2s

2+
1+ a1s+ a2s

2+

€ 

W (0) =1

Re	
  

Im	
  

×	
  

×	
  

×	
  

×	
  

×	
   o	
  

o	
  

o	
  

parte	
  trascurabile	
  
per	
  il	
  calcolo	
  dei	
  	
  

parametri	
  significa;vi	
  	
  
della	
  risposta	
  transitoria	
  

11	
  -­‐	
  fine	
  


